0Z0Z90L0 LMOW3Isu!

ELKGC=BIS

SYSTEMY ODGROMOWE

Installation
instructions

Tripod Concrete Base
Interception Air Rod

ELKO-BIS Systemy Odgromowe Sp.z o0.0.
ul. Swojczycka 38e, 51-501
Poland

Export:

tel. +48 71 33066 15
export@elkobis.com.pl

www.elkobis.com




Product information

Tripod Concrete Base Interception Air Rod

For lightning protection of roof elements and devices
( skylights, air conditioners, air handling units, air handling

channels). Wire conductor clamp included. Use concrete
base pad underneath 44408208 - to be ordered separately. D

Ia

Aluminium made.

In addition, we recommend using Concrete Base Pad
94308222 for roofs covered with tar board and 94308221 for
roofs covered with membrane.

Also available in grey non branded concrete mast bases.

To order mast with foldable tripod frame construction or on
grey non branded concrete mast bases, change second digit

65034509 ‘ﬁ

black concrete mast bases 1 .

standard tripod Z .
1! g N g '|

65034509 67034509 62034509 \'\ /

grey non branded black grey non branded "\ V4
concrete mast bases concrete mast bases concrete mast bases NS rd
standard tripod foldable tripod frame foldable tripod frame

in the catalog number.

Maintenance

We hereby inform, condition to keep warranty for Elko-bis
products its appropriate maintenance. All connectors and torsion
parts of the mast need to be checked and tight up properly,
ensuring stability of whole construction.Parts to be also mainta-
ned by using and applying technical vaseline ( cat.num.99500199)
To be applied every 12 months.

S.2



65058009
65048009
65038009
65057009
65047009
65037009
65027009
65056509
65046509
65036509
65026509
65056009
65046009
65036009
65026009
65055509
65045509
65035509
65025509
65045009
65035009
65025009
65015009
65044509
65034509
65024509
65014509
65034009
65024009
65014009
65035009
65025009
65015009
65033009
65023009
65013009

o e nn-n----“

65.85p cz
65.84p cz
65.83pcz
65.7 5p cz
65.74pcz
65.73pcz
65.7 2p cz
65.65 5p cz
65.65 4p cz
65.65 3p cz
65.65 2p cz
65.6 5p cz
65.6 4p cz
65.63pcz
65.6 2p cz
65.55 5p cz
65.55 4p cz
65.553p cz
65.55 2p cz
65.54p cz
65.53pcz
65.52p cz
65.51pcz
65.45 4p cz
65.453pcz
65.452p cz
65.45 1p cz
65.43p cz
65.42p cz
65.41p cz
65.353pcz
65.352pcz
65.351pcz
65.33pcz
65.32pcz

653 1pcz

6,5

55

4,5

35

122 km/h
116 km/h
101 km/h
140 km/h
133 km/h
117 km/h
97 km/h
140 km/h
133 km/h
117 km/h
97 km/h
149 km/h
146 km/h
127 km/h
106 km/h
149 km/h
146 km/h
127 km/h
106 km/h
175 km/h
153 km/h
127 km/h
93 km/h
175 km/h
153 km/h
127 km/h
93 km/h
192 km/h
159 km/h
116 km/h
192 km/h
159 km/h
116 km/h
258 km/h
213 km/h
155 km/h

8425
8340
8255
7425
7340
7255
7170
6925
6840
6755
6670
6425
6340
6255
6170
5925
5840
5755
5670
5340
5255
5170
5085
4840
4755
4670
4585
4255
4170
4085
3755
3670
3585
3255
3170
3085

s.3

3000
3000
3000
3000
3000
3000
3000
3000
3000
3000
3000
3000
3000
3000
3000
3000
3000
3000
3000
2000
2000
2000
2000
2000
2000
2000
2000
3000
3000
3000
3000
3000
3000
2000
2000
2000

3000
3000
3000
3000
3000
3000
3000
3000
3000
3000
3000
2000
2000
2000
2000
2000
2000
2000
2000
2000
2000
2000
2000
2000
2000
2000
2000

2000
2000
2000
1000
1000
1000
1000
500
500
500
500
1000
1000
1000
1000
500
500
500
500
1000
1000
1000
1000
500
500
500
500
1000
1000
1000
500
500
500
1000
1000
1000

940
040
940
940
940
940
940
940
940
940
940
940
940
940
940
940
940
940
940
940
940
940
940
940
940
940
940
940
940
940
940
940
940
940
940

016
916
816
916
816
016
916
816
016
916
816
916
916
616
916
916
816
016
916
016
916
916
016
916
916
816
016
916
016
916
816
016
916
616
916
916

91187
91187
01187
01187
91187
091187
91187
91187
91187
01187
91187
091187
91187
091187
01187
01187
91187
91187
91187
091187
01187
91187
091187
01187
91187
091187
091187
91187
91187
91187
91187
091187
01187
91187
091187
91187

0340
9340
0340
9340
9340
©340
9340
8340
0340
9340
8340
@340
9340
8340
@340
9340
0340
9340
9340
8340
9340
9340
8340
9340
9340
0340
9340
9340
@340
9340
8340
0340
9340
8340
8340
9340

15x16 kg
12x16 kg
9x16 kg
15x16 kg
12x16 kg
9x16 kg
6x16 kg
15x16 kg
12x16 kg
9x16 kg
6x16 kg
15x16 kg
12x16 kg
9x16 kg
6x16 kg
15x16 kg
12x16 kg
9x16 kg
6x16 kg
12x16 kg
9x16 kg
6x16 kg
3x16 kg
12x16 kg
9x16 kg
6x16 kg
3x16 kg
9x16 kg
6x16 kg
3x16 kg
9x16 kg
6x16 kg
3x16 kg
9x16 kg
6x16 kg
3x16 kg



Assembly set components

Air Terminal/Lightning
Spire Connector

© ©

Washer M16 x6 Nut M16 x9 Wire conductor
connection clamp
x1

@ o
U Air Terminal/Air
Ti i M8x12 + nut M i
Assembly pin  Wide washer M16 x3  Allen key 4 |ghtran|ngscr'ew B2 +nut M8 Terminal Connectog
3 1 Air Terminalsupto4m x2
Air Terminals above 4 m x6
Tripod Frame
Concrete Blocks Assembly Set
— Regulation nuts

Wire conductor connection clamp
Lightning Spire

Mast Concrete Blocks

Maszt odgromowy

Required tools

13 mm 16 mm 2X 24 mm

spanner spanner spanner

3'/': 1 person (L 8 minutes

“a

s.4




To use underneath concrete blocks
protection pads (ordered separately),
apply the pad onto assembly pin first.

Apply concrete blocks afterwords.
Make sure blocks are properly fited
into the pads.

Apply rest of concrete blocks, to

obtain required loading.

Insert washer and nut M16 onto

assembly pin.

Tight the nut M16, make sure all parts

cling to each other.

s.5



Assemble regulation nut M16 and
washer M16 afterwords.

Repeat previous steps for each
assembly element in the set, after-
words insert a tripod frame the way

its shown on a drawing.

Insert wire conductor connection

clamp

Apply and tight the nut M16 and
second regulation nut M16, to all

assembly elements.

(19 I -
. "I Regulation nuts

Level the mast using regulation nut
M16.

5.6



Insert mast connector on the end off
air terminal.

Connect the second end / part of air

terminal.

Insert and tight M8x12 srews into the

threaded holes of connector.

Tight M8 lock nuts.

Apply air terminal/lightning spire
connector the way it shown on a

drawing.

s.7



Assemble lightning spire

Insert M8x12 srews into the threaded
holes of connector and tight air termi-

nal with a spire.

Insert M8 lock nut onto tightening
screw. Assembled air terminal apply
into tripod frame.

In the upper part of tripod holder
apply C profile clamp and tight up.

Insert wire conductor into connection

clamp and tight up using nut M10.

5.8



